Semester 441 / MATH-244 / Quiz-1 version A Solution

Max. Marks: 10 Max. Time: 35 Min.
Question 1 [Marks: 1.5]:
1 1 1
Which of the following matrices is row equivalent to the matrix | x y z |?
z+y x+z y+x

1 1 1 1 1 =z 1 1
(a) 1 1 1 (b) [1 1 yl (©) [x y
y+z x+z x+y 1 1 x Z y
Question 2 [Marks: 2]:
1 0 2
The inverse of the matrix [0 -1 Ol 1S:
o 0 -1
1 0 0 1 0 0 1 0 2 1 0 0
() [0 -1 ol (b) [0 1 —1] (©) [0 -1 ol (d) .[o 1 ol
2 0 -1 0 0 2 0 0 -1 1 0 2

Question 3 [Marks: 1.5]:

Which of the following conditions is sufficient for invertibility of square matrix M?
(a) RREF of MisnotI (b) M has a unique REF (c) M has a unique RREF  (d) RREF of M is I

Question 4 [Marks: 1.5]:
Let A and B be 4x4 matrices such that B is not invertible. Then,

24747 +3Badj (B)| is equal to:

(a) 4 (b) 16 (c) 8 (d) 2
Question 5 [Marks: 2]:
aavy0
0
The determinant of the matrix axny is equal to:
L O0aa
0f aa
() Br(By-20%) (b) Py(By-o?) (©) By(By-30?) (d) By(By-4o?).
Question 6 [Marks: 1.5]:
-1 0 0
Let A be 3x3 matrix and E = [ 0 3 0 |. Then, the determinant |EA| is equal to:
3 0 -1

(@) 1Al (b) -9IA| (c) 3|A (d) 6|A].
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